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R HAMEIA (. 3/ B)

HEN | DADBVHEKERE  EARX

TS | RUMHE AP B NIRRT 7 TF

a— K 4 B GH %) B = HifiL B Afh & % i &
CRIAE g5
ey 2| 100. 000 m

O ffl m




R BAREEA (

4

5)

FEL | DADPWVEKEE  EHRIX
T4 | R1IMERE AHE B SEREEL 7 TF
o— R 4 B ORHK) $ HAAL Al 4 KA =
Kok sk CHi— 18 skok %
TR IESRBGIE 7 = v ARE m 100. 000 m| 7= Y B
ARG
A SH 15
WEIEER
A SH 8%
Ny diy [e=7 8- Jy—/A%Re T - HERE (17K - 20K - 37K%) ]
FEAEN Ty b5 B 1O, 8m3  (SEAHO. 6m3) MBESI2. 9t H SH¥E 3%
HEdh
0.030
B
N 2 100. 000 m
k== fifi m
kkk CH— 275  kkk
VB IEER G IE 7 = o AR m 100. 000 m| ¥47= ¥ B
ARG
A SH 7%
EEIEER
A SH 8%
Ny (=71 pu- K RE AT - BEXTTL (1K - 27k - 3%K) ]
FEYEN ry b5 B [LF50. 8m3  (FEAH0. 6m3) MHE12. 9t H SH 3%
JE S
0.030
. R E
R 100. 000 m




R HAMEIA ( 5/ 5)

HEN | DADBVHEKERE  EARX

TS | RUMHE AP B NIRRT 7 TF

a—F 4 B ) % = HLAZ WA

&
F%]{
=
N

Ol m




RTHMSE — Bk BMfIIA 1/ 1)

HEN | DADBVHEKERE  EARX

TS | RUMHE AP B NIRRT 7 TF

a—F 4 B ) % = HLAZ WA

&
F%]{

=

7" VR AMNARR
T-6, 4000%1000%225 e 139, 000 SH 128




RREH—ER

IE4 R1fEH NAHE LIk AEHBE17IS

&R R Bifi] B fiff e
YAk ¢ a7 — Rk (A7) m3 1,100 iEHREERE L=4.7km
YAk ¢ a7 — ik (k) m3 2,000 |:EHEEERE L=4.7km
YAk ¢ T A7 7 IV Nk m3 1,800 iEHREERE L=4.7km

A VNI T-6,4000%1000+225 B 139,000




# 2 % & #F& (No.1)
IER5% I # Al Al OB By #H =
B IR
FNR— T (fEELET
Esl R m’ 409
7R R m’ 1,419
" 1.0=B<2.0 n’ 122
Ui B<1.0 m 7
HEL 2.5=B<4.0 m’ 242
" 1.0=B<2.5 n’ 383
” B<1.0 n’ 17
n 15 JE 31 m’ 162
FETHHEIE R n’ 393
AT
B+ + W m’ 1,063 |BIGNKE X
WAMTEIET. | (B=3.90m, H=2.20m, 2i#)
=27 U— b |0 ck=24N/mm2 m’ 335
T e — i n’ 715
E7Si] SD345, D13 t 9.59
" n . D16 t 1. 80
” noo. D22 t 3.58
" no. D25 t 14. 56
" no. D29 t 3.53
” no. D32 t 4.26
gLar s y—k [18N/mm2Ll k. t=100 | p? 270 27 m3
(I SR E A n’ 8.7
SEtE RC-40, t=200 n’ 270
H bt t=20mm m’ 33
i t=10mm m’ 1
IR CF200 m 16.6
IR CF300 m 27.7
Va4 > b3—|D29 X 1000 Z 88
XL R T R— b Zen® 523
ST FH AT P 307
Hefoe L.
=27 U— b |0 ck=24N/mm2 m’ 122
T e — T n’ 266
E7Si1] SD345, D13 t 2.76
” n . D16 t 2.10
" no. D19 t 1.89
" no. D25 t 8.43
gLar sy —k [18N/mm2Ll k. t=100 | p? 123 12 m3
(I SR E A n’ 2.7
SEtE RC-40, t=200 n’ 123
H bt t=20mm m’ 8
N t=10mm m’ 4
FARET 2R FHHR— R Zan’ 10
ST FH AT P 255
PRIR T
7L %% A MEAR [4000X1000%225 (1-6) | K 22 (PNAKCHE A AL
=27 U— b |0 ck=24N/mm2 m’ 6.9
T — T n’ 28
E7Si1] SD345, D13 t 0.10
” n . D16 t 0.28
" no. D25 t 0. 70
FART 2R FHHR— R Zan’ 46




B B #® B X N2
THXSy T f& il LI B BT ¥ = 15
RALL
HEAK AR OwAl, 1=2.00m % 16
t 1.98
HEAK AR Mm%, L=10.50m # 2
t 1.26
=227 U— b |0 ck=18N/mm2 m’ 3.1
T e — T n’ 0.6
i T
i T
oy U—hE E|C2-B300, TEFIH # 12
UBMANEE  Hs |mRlA m 45
PCARAR  fZE FAIA e 4
TEIUE L L
L R =300 n’ 675
AsEHIERUE L |t=40 n’ 459
AsHHEERRT DOl |t=40 m 23
vy ) — MR L |HER, Rk m 434
" " VAN ) 2 n’ 102
" " F . Bk n’ 16
Bl AL ¢ 42X900 1L 140
" ¢ 42X 450 1L 70
F B Al kg 362
Coik LB HEFTS m’ 535
n i m’ 16
AsTRALER n’ 18
HET
RN e
A Smek4mk0. 5m m’ 10
% L
T AEK T
#F+ WE t=30cm m’ 841
G E 4.0=B m’ 675
T AT 7 v MlidE
e BRI EAs, t=50 | mn? 511
R RC-40, t=100 m’ 511
AR —+ n’ 841
BERZ A& 5 m] L ¢ 200 89 (ZEHE)
n $ 100 m 91 (ZEHE)
BRI T AN
SRR VAL 1=10.5m
B 246 |Mckk
t 196.57 |E&
KELD 5 BRIE - i 4% 15
[ €73 22+%1524%6096 m2 389 42 ¥ 67. 16t




HEL FXLIFESE

BB E%ET
JOwvy:
X 4
TR ik = R =
PEH
+1h +HEFEELY 409.0 m3
R
+1h +HEFEELD 1,419.4 m3
1.0m=B<2. Om I 121.6 m3
B<1.0m I 6.5 m3
WEREL
2.5=<B<4.0 TR EELD 241.8 m3
1.0=B<2.5 I 383.2 m3
B<1.0 I 16.8 m3
&) 51 I 162.2 m3
FmEE I 392.8 m2
PR TR AR LY = 269.7
E073 il AR LY = 123.1
(=2 aw
PEEIL © 409.0+1419. 4+121. 6+6. 5 = 1,956.5
HERMEL+ . (241. 8+383. 2+16. 8+162. 2) /0. 9 = 893.3
1,063.2 m3




R KRIEY FRAEY RIEY
B R R T TR 1.0m=B<2.0m B<1.0m i &
(m) W Ty M E Wr @ o HE [i:] Ty = Wr @ o HE
No. 26 + 18.900 | — 0.0 — — 26.9 — — 2.7 — — 0.3 — — | *1. 003t
No. 27 + 1.000 2. 100 0.0 0. 00 0.0 26. 9 26. 90 56. 5 2.7 2.70 5.7 0.3 0.30 0.6
No. 27 + 12.850 | 11.850 7.9 3.95 46. 8 35.9 31. 40 372. 1 2.7 2.70 32.0 0.2 0.25 3.0 |NO. 287itH
No. 28 7. 150 7.9 7.90 56. 5 35.9 35.90 256. 7 2.7 2.70 19.3 0.2 0.20 1.4
No. 28 + 2.158 2. 158 7.8 7.85 16.9 33.4 34.65 74.8 2.7 2.70 5.8 0.2 0.20 0.4 |BC.3
No. 28 + 12.920 | 10.762 11.3 9.55 102.8 28.0 30. 70 330. 4 2.8 2.75 29. 6 0.0 0. 10 1.1 |SP.3
No. 29 7. 080 11.8 11.55 81.8 28.9 28. 45 201. 4 1.8 2. 30 16.3 0.0 0. 00 0.0
No. 29 + 3.700 3.700 10.0 10. 90 40.3 19.5 24. 20 89. 5 2.5 2.15 8.0 0.0 0. 00 0.0 |E-P
No. 29 + 5.650 1. 950 10.0 10. 00 19.5 19.5 19. 50 38.0 2.5 2.50 4.9 0.0 0. 00 0.0 |*3. 7
No. 29 + 5.650 — 10.0 — —
No. 29 + 9.650 4. 000 10.0 10. 00 40. 0
No. 29 + 10.520 0. 870 0.0 5. 00 4.4
ANEH 51.620 409. 0 1,419.4 121.6 6.5
N = m m3 m3 m3 m3
S 51. 620 409. 0 1,419.4 121.6 6.5
HERL HBERL HERL HBERL
A A i 25<B<40 10=<B<25 B<1.0 HEmEsD &=
(m) Br @ Ty = Wr @ o HE
No. 26 + 18.900 — 0.0 — — 9.1 — — 2.1 — — 3.8 — —
No. 27 + 1.000 2. 100 0.0 0. 00 0.0 9.1 9.10 19.1 2.1 2. 10 4.4 3.8 3.80 8.0
No. 27 + 12.850 | 11.850 12.2 6. 10 72.3 5.5 7.30 86. 5 0.0 1.05 12.4 3.4 3. 60 42.7 |NO. 283t
No. 28 7. 150 12.2 12. 20 87.2 5.5 5. 50 39.3 0.0 0. 00 0.0 3.4 3.40 24.3
No. 28 + 2.158 2. 158 10.7 11.45 24.7 5.4 5. 45 11.8 0.0 0. 00 0.0 3.4 3. 40 7.3 |BC.3
No. 28 + 12.920 | 10.762 0.0 5.35 57.6 10.9 8.15 87.7 0.0 0. 00 0.0 3.4 3.40 36.6 |SP-3
No. 29 7. 080 0.0 0. 00 0.0 10.9 10. 90 77.2 0.0 0. 00 0.0 3.4 3. 40 24. 1
No. 29 + 3.700 3.700 0.0 0. 00 .0 10.9 10. 90 40. 3 0.0 0. 00 0.0 3.4 3.40 12.6 |E-P
No. 29 + 5.650 1. 950 0.0 0. 00 0.0 10.9 10. 90 21.3 0.0 0. 00 0.0 3.4 3. 40 6.6
No. 29 + 5.650 —
No. 29 + 9.650 4. 000
No. 29 + 10.520 0. 870
ANEH 51.620 241.8 383.2 16.8 162.2
N = m m3 m3 m3 m3
S 51. 620 241.8 383. 2 16.8 162.2




Bl WETL (@ 2.5=B<4.0

D =N =
BEEFR
1.0=<H<2.5)
B=3.90m, H=2.20m, 23
G| Bl HANT hF & 3 i
REAHE BRI 1 iR 2
1=9.300m | L=10.743m | L=10. 742m
ar7Y—Fh
CEERR) o ck=24N/mm2 m3 41.153 47.536 47.533 136. 222
a7y —k 335. 47
(fEE) o ck=24N/mm2 m3 23. 157 26. 749 26. 746 76. 652
ar7Y—Fh
AR o ck=24N/mm2 m3 37.037 42. 782 42. 780 122. 60
T e
CEERR) — A m2 18.27 15. 17 9.75 43.19
Tl 715.3
(fEE) — A m2 132. 43 149. 63 147. 12 429. 18
T e
(TERD — A m2 77.82 84. 55 80. 56 242.93
A5 SD345 (D13) t 2.792 3.397 3.397 9. 586 9. 59
A5 SD345 (D16) t 0. 546 0. 625 0. 625 1.796 1.80
A5 SD345 (D22) t 1.110 1. 236 1.236 3.582 3.58
A5 SD345 (D25) t 4. 402 5. 079 5. 079 14. 560 14. 56
A5 SD345 (D29) t 1.164 1.184 1.184 3.532 3.53
A5 SD345 (D32) t 1.333 1. 464 1.464 4. 261 4. 26
¥ 0 28=18N/mm2
27 Y —h  [t=10cm m2 84. 17 97.22 88. 26 269. 65 269. 7
Bl Blarvy)— b m2 3. 69 3.05 1.95 8. 69 8.7
FERREEA RC-40, t=200 m2 84. 17 97.22 88. 26 269. 65 269. 65
H it £=20mm m2 — 10. 90 21.80 32.70 32.7
H Hipt £=10mm m2 — — 0.99 0.99 1.0
AEIKAR CF200 m 11.04 5. 52 — 16. 56 16.6
AEIKAR CF300 m 18.56 9.17 — 27.73 27.7
D29 X 1000
YaA v hox— [VPELE S 59. 0 29. 0 — 88.0 88.0
IR THHE— b
KRT * £ < 40kN/m2 Z2m3 157.9 182. 6 182.4 522.9 522.9
FHE TR,
JE T H=30m Hhm2 128.7 110.7 67.7 307. 1 307. 1




Eﬁmk

— MRS
i B IR
v v 7 o fAE (L=9. 300m)

X o
A1 A 1 z\, S
a7 U—5h
(EERR) V= 1/2%(10. 322+ 8. 278) *8. 850%0. 500 =41.153
o ck=24N/mm2
41.153 m3
a7 U—F
(fHIEE) V1= 1/2%(10. 322+ 10. 241) *0. 350%2. 200 =17.917
V2= 1/2%(9. 34049. 260) *0. 350%2. 200 =7.161
o ck=24N/mm2 V3= 1/2%(8. 359+ 8. 278) *0. 350%2. 200 = 6. 405
(N TF)
V4= 1/2%0. 300%0. 300%1,/2% (10. 241+ 10. 172) = 0. 459
V5= 1/2%0. 300%0. 300%1/2% (9. 410+9. 340) = 0. 422
V6= 1/2%0. 300%0. 300%1/2% (9. 260+9. 190) =0.415
V7= 1/2%0. 300%0. 300%1/2% (8. 428 +8. 359) =0.378
23.157 m3
a7 U—5h
(TEhR) V= 1/2%(10. 322+ 8. 278) *8. 850%0. 450 = 37.037
o ck=24N/mm2
37.037 m3
AP ()
Al= (9.083+10. 322+8. 850+ 8. 278) *0. 500 = 18.27
— i P
18.27 m2
T (fRI16E) 1/sin(77° 00" 00” )=1.02630
(&M
— R Al= (10.322+8. 278)*2. 200 = 40.92
(P48
A2= (10.241+9. 340+9. 260+ 8. 359) *1. 900 = 70. 68
(NF)
A3= 0. 424%1/2%(10. 241+10. 172) =4.33
A4= 0. 424%1/2% (9. 410+9. 340) =3.98
A5= 0. 424%1/2% (9. 260+9. 190) =3.91
A6= 0. 424%1/2% (8. 428 +8. 359) =3.56
(Uhihs)
wsqm|  A7= (2. 200%0. 350%3 +
1/2%0. 300%0. 300%4) *1. 02630 - 9 56
HABUE AB= 5 900%0. 35043 + 1,/2%0. 300%0. 300%4
=2.49
132.43 m2




i B IR

Tuy s o fEE (L=9. 300m)

X a7
Al KEAS L e ] B &=
P (THRR)
(FMHD)
— R Al= (9. 0834 10. 322+ 8. 850+ 8. 278) *0. 450 = 16. 44
(PRI
A2=1/2%(10. 17249. 410) *3. 300 =32.31
A3= 1/2%(9. 190+8. 428) *3. 300 =29.07
77.82 m2
7 11}
P EREFR LY (AHK)
SD345(D13) (D13) W=2.792 2.792 t
SD345 (D16) (D16) W= 0.546 0.546 t
SD345 (D22) (D22) W= 1.110 1.110 t
SD345 (D25) (D25) W= 4.402 4.402 t
SD345 (D29) (D29) Wi=1.164 1.164 t
SD345 (D32) (D32) W2=1.333 1.333 t
BLrarzy—+hr
A= 1/2%(10. 345+8. 255)%9. 050 = 84. 165
o ck=18N/mm2 (V=84. 165%0. 10=8. 417m3)
t=10cm
84.17 m2
FE
A= (9. 288+10. 345+9. 050+8. 255) *0. 10 = 3.69
Ly sy — MR
3.69 m2
FEREE
A= BHlLarvZ7U—FERELU = 84. 165
RC-40, t=200
84.17 m2




T B BIET
Tuy s o fEE (L=9. 300m)
X o
Al KEAS B e B &
H ks
t=20mm
—  m2
1 7KAR
CF200 WX & 0 (2. 76m~+2. 76m) *2 = 11.04
11.04 m
17K B
CF300 Wrim 3 X v 9.39m+9. 17m = 18. 56
18.56 m
TaAf Ly h—
D29 X 1000 P LD 304+ 29K =59
VPAE ) &
59 K
KR
(RAE)
A THR— V1= (2.200%3. 900 —1/2%0. 300%0. 300%2) =83.12
40kN/m2 < £ <80kN/m2 *1/2%(10. 24149. 340)
H=30m V2= (2. 200%3. 900 — 1/2%0. 300*0. 300%2) =74.79
x1/2% (9. 260+ 8. 359)
157.9 Z%m3
e N
Al= (10.32+10. 05+ 10. 43+ 10. 04) *3. 15 = 128.65
TR FA TR,
H=30m _—
- 128.7 #im2

10322 a2 (4+@)

10241 _faE: (M)

10172

INDVTF

<00Y

S 9410 N1 F
— Qi BE

3900

5

806
o

9190 N> F

goov

8428 NV F

————————— §TROBE THE =

3900

N

8850

=}
&
)

8278 fHIEE (sim)

Paq k= D29
(ER {3 FEFR300) N=30

CaA 2 k/N— D29

(ER{FFFm300) N=29




OB WEL
Tuy s o fEE (L=9. 300m)
X Al

— et

=
=

Eﬁm?t

B m (&2 = A)
9083
859 4003 359 4003 35
a4y )-k (o,=24N/mm?)
1 1, g
| S S |
kIR CF300 At Q?/
L=14. 24m 3387 S gl 3
N > I N N
| +2. 654~+2. 968
t.°°_‘°.._°°°_°.°°°/’°._°°°_°°.°_°°°j 8
\ oY =4 o1
100000090 \ (00000041 — (=4
S
Saq Akn— DZ; Lary)— k (ogck=18N/mm’) N
(B f+ & 300) ERHA (RC-40)
103 9083 103
9288
B m B Eaa)
8850
350 3900 350 3900 35
av4 -k (o, ,=24N/mm’)
[=)
Lo
<l|>7 —Lg) '7_13 ,Jlr h~ ol
300 T K
(EkiE CF300 Tt i Uhj &
L=14. 02m 3300 S 8| 8
~ —
N S | ~ oo
‘ +2.654~+2. 968 ‘
IEOOO—?DD—DOOO—OOCLO/O—OOOO—ODD—DOOjI § i
10000000] ‘\ (00006004 b
S =
N _ _ 2
TaAd Y= DZM HLavY )—k (ock=18N/mm’) o
(En{TFEb=300) E A (RC-40)
100 8850 100
9050




AR

Eﬁm?'

i B IR
v v 7 o fAE (L=9. 300m)
X ad

IR
10345
_ - AN 2
S
=
S
N
oo
8255
S
ooooo
S
s

00000




AR

& Bl IR
Zwu w7 o g1 (L=10. 743m)
X Ca
A1 B RS =1 I\ I,
ar7 U—h
(EERR) V=1/2%(10. 267+ 11. 218) *8. 850%0. 500 = 47.536
o ck=24N/mm2
47.536 m3
a7 J—F
(fREE) V1= 1/2%(10. 267+ 10. 305) *0. 350%2. 200 =17.920
V2= 1/2%(10. 724+ 10. 762) *0. 350%2. 200 =8.272
o ck=24N/mm2 V3= 1/2%(11. 181+ 11. 218) *0. 350%2. 200 =8.624
(N F)
V4= 1/2%0. 300%0. 300%1/2% (10. 3054 10. 337) = 0. 464
V5= 1/2%0. 300%0. 300%1/2% (10. 692+ 10. 724) =0.482
V6= 1/2%0. 300%0. 300%1/2% (10. 762+ 10. 794) =0.485
V7= 1/2%0. 300%0. 300%1/2% (11. 148+11. 181) =0.502
26.749 m3
ar7 U—h
(TERR) V=1/2%(10. 2674 11. 218) *8. 850%0. 450 =42.782
o ck=24N/mm2
42.782 m3
AP (ERR)
Al= (10. 267+8.850+11. 218) *0. 500 =15.17
— R
15.17 m2
TP (fHBE)
(S
— TR Al= (10.267+11. 218)*2. 200 =47.27
(P
A2= (10.305+10. 724+ 10. 762+11. 181)*1.900 = 81.65
(N F)
A3= 0. 424%1/2% (10. 305+ 10. 337) =4.38
A4= 0. 424%1/2% (10. 692+ 10. 724) =4.54
A5= 0. 424%1/2% (10. 762+ 10. 794) =4.57
A6= 0. 424%1/2%(11. 148+11. 181) =4.73
(Ui ls)
wmm| A7= 2. 200%0. 350%3
+ 1/2%0. 300%0. 300%4 =9 49

149.63 m2




picil Bl IR
Zwu w7 o g1 (L=10. 743m)
X Ca
L D ST B X o =
HF (TERR)
(&Ml
— I Al= (10.267+8.850+11. 218)*0. 450 =13.65
(A
A2=1/2%(10. 337+ 10. 692) *3. 300 =34.70
A3=1/2%(10. 794+ 11. 148)*3. 300 = 36. 20
84.55 m2
EINIT]
PR EER LY (AAK)
SD345(D13) (D13) W= 3.397 3.397 t
SD345(D16) (D16) W= 0.625 0.625 t
SD345 (D22) (D22) W= 1.236 1.236 t
SD345 (D25) (D25) W= 5.079 5.079 t
SD345 (D29) (D29) Wi=1.184 1.184 t
SD345 (D32) (D32)  W2= 1. 464 1.464 t
BLarvszy—Fk
A= 1/2%(10. 257+ 11. 229) %9. 050 =97.22
o ck=18N/mm2 (V=97. 22 X 0. 10=9. 722m3)
t=10cm
97.220 m2
A A
A= (10. 25749. 050+ 11. 229) *0. 10 =3.05
BLar sy — pEpP
3.05 m2
FEAEA
A= HyLarZz7VU—rEFEL =97.220
RC-40, t=200

97. 22

m2




— e R E
picil Bl IR
Zwu w7 o g1 (L=10. 743m)
X 9
L D ST B X o =
H Hikt
A= 3. 15%8. 85—2. 20%3. 90%2
t=20mm +1/2%0. 30%0. 30%4 =10.90
10.90 m2
17K
CF200 Wrif [ & 0 2. 76m X 2f& fif =5.52
5.52 m
1K
CF300 Wrif [ & 0 =9.17
9.17 m
VaAfr hA—
D29 X 1000 S LD =29
VP&
29 A
KPR T
(ARAE)
A THR— b V1= (2.200%3. 900—1/2%0. 300%0. 300%2) =89.34
40kN/m2 < £ < 80kN/m2 *1/2%(10. 3144 10. 733)
H=30m V2= (2. 200%3. 900 — 1/2%0. 300%0. 300%2) =93.22
%1/2%(10. 770+ 11. 190)
182.6 Z%m3
2% T
Al= (11.339+11.251+12.547)%3. 15 =110. 68
T ATRINA,
H=30m 110. 7 #Hm2




_ L puz L
AR E
OB BT
7y 7 o il (L=10. 743m)
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_________ J033T N TF
- . .
- 602 NYF o —— :
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o4 > kn— D29
S ERAMA ).
S mm00) N=29
11218 {3 (5+E)

Br m
8850 ,
350 3900 350 3900 350
avy -k (o,=24N/mm’)
5
e 7;@ T
K4E CF300 ~“?ZI? — &
L=14.02m . 3300 o 3| 8
(=) N —
N S TR RS
| +2. 654~+2. 968 |
I o o0 o o 06 0 6 0 06 0 0 © o o © 6 6 0o 06 0 06 o0 o 0 o \ [=3
r _?\‘ e > o022 o ¢ ° e 9 = i
§0000004] \ (00000044 — o
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~ - 2
Sa4YRs— D29 BHLary)—k (ock=18N/mm’) N
(B P 300) EBERE (RC-40)
100 8350 100
9050




— e R E
picil B BRIET
7y 7 o il (L=10. 743m)
X g




AR

& Bl IR
7 a7 dhiEREr2 (L=10. 742m)
X Ca
Al RS =1 I\ S,
a7 J—F
(EERR) V=1/2%(10. 266+ 11. 218) *8. 850%0. 500 = 47.533
o ck=24N/mm2
47.533 m3
a7 J—F
(fREE) V1= 1/2%(10. 266+ 10. 303) *0. 350%2. 200 =7.919
V2= 1/2%(10. 7234 10. 761) *0. 350%2. 200 =8.271
o ck=24N/mm2 V3= 1/2%(11. 180+ 11. 218) *0. 350%2. 200 =8.623
(N F)
V4= 1/2%0. 300%0. 300%1/2% (10. 303+ 10. 336) = 0. 464
V5= 1/2%0. 300%0. 300%1/2% (10. 691+ 10. 723) =0.482
V6= 1/2%0. 300%0. 300%1/2% (10. 761+ 10. 793) =0.485
V7= 1/2%0. 300%0. 300%1/2% (11. 148+ 11. 180) =0.502
26.746 m3
a7 J—F
(TERR) V=1/2%(10. 266+ 11. 218) *8. 850%0. 450 = 42.780
o ck=24N/mm2
42.780 m3
AP (ERR)
Al= (9. 276+ 10. 228) *0. 500 =9.75
— R
9.75 m2
TP (fHBE)
(S
— IR Al= (10. 266+11. 218) *2. 200 =47.26
(P
A2= (10.303+10. 723+ 10. 761+ 11. 180)*1.900 = 81. 64
(N F)
A3= 0. 424%1/2% (10. 303+ 10. 336) =4.38
A4= 0. 424%1/2% (10. 691 +10. 723) =4.54
A5= 0. 424%1/2% (10. 761+ 10. 793) =4.57
A6= 0. 424%1/2%(11. 148+11. 180) =4.73

147.12 m2




— e R E
picil Bl IR
Zwu w7 o g2 (L=10. 742m)
X 9
L D ST B X o =
AR (TERR)
(&Ml
— R P Al= (10.266+11. 218)*0. 450 =9.67
(A
A2=1/2%(10. 336+ 10. 691) *3. 300 = 34.69
A3= 1/2%(10. 793+ 11. 148) %3. 300 = 36. 20
80.56 m2
EINIT]
PR EER LY (AAK)
SD345(D13) (D13) W= 3.397 3.397 t
SD345(D16) (D16) Wi=0.625 0.625 t
SD345 (D22) (D22) W3=1.236 1.236 t
SD345 (D25) (D25) W4=5.079 5.079 t
SD345 (D29) (D29) Wi=1.184 1.184 t
SD345 (D32) (D32) W2= 1. 464 1.464 t
BLarvszy—Fk
A= 1/2%(9. 2654 10. 239) %9. 050 = 88. 256
o ck=18N/mm2 (V=88. 256%0. 10=8. 826m3)
t=10cm
88.26 m2
Al B R
A= (9. 265+ 10. 239)*0. 10 =1.95
BLar sy — R
1.95 m2
FEAEA
A= HyLarZz7VU—rEFEL = 88. 256
RC-40, t=200

88. 26

m2




— e R E
picil B IR
Zwu w7 o g2 (L=10. 742m)
X 9
L D ST B X o =
H Hikt
By Al= 3. 15%8. 85—2. 20%3. 90%2
t=20mm +1/2%0. 30%0. 30%4 =10.90
T A2= bR L [ERE =10.90
21.80 m2
H Hikt
Beygrtir] A= 0. 500%0. 990%2 =0.99
t=10mm
0.99 m2
KPR T
(R1A)
A THR— b V1= (2.200%3. 900—1/2%0. 300%0. 300%2) = 89. 26
40kN/m2 < £ <80kN/m2 *1/2%(10. 303+ 10. 723)
H=30m V2= (2. 200%3. 900 — 1/2%0. 300%0. 300%2) =93. 14
x1/2%(10. 761+ 11. 180)
182.4 Z%m3
2% T
Al= (10. 1474 11. 357)%3. 15 = 67.74
FHASATRINER,
H=30m 67.7 Hm2
¥ = im &
B i B i
t=10mm

t=10mm \

500

Vv3.196

500




— R Et R E
& B BT
Zwu w7 o g2 (L=10. 742m)
X ol

B mm X
8850
550 3900 350 3900 35(

a4 1)-k (o,=24N/mm?)

9050

g g Z
| | _ £ ] <t
S Z 49’
A :
45 4 <
il 3300 - & sl s
o N —
S SIS
+2. 654~+2. 968
[=]
o
LO =
00000000] 00000001 =
S
#La>yy—k (ock=18N/mm’) <
AW (RC-40)
100 8850 100




—xEt R E

CEIRT

7na vy o giERE2 (L=10. 742m)

X g

= Al




L P L

R E

Hefor 1.
! Bk Hifir No. 2713 N & F# o
[=13. 31m
(& =4
av7J—h
UEhR) o ck=24N/mm2 m3 60. 330 60. 330
122. 38
a7 U—Fk
(fEE) o ck=24N/mm2 m3 62. 049 62. 049
Bt
UEhR) — B m2 13.33 13.33
266. 5
T
(fEE) — TR m2 253. 12 253.12
BRAG SD345 (D13) t 2.755 2. 755 2.76
n SD345 (D16) t 2. 097 2. 097 2.10
I SD345 (D19) t 1. 887 1. 887 1.89
n SD345 (D25) t 8.431 8. 431 8.43
¥l 0 28=18N/mm2
ENTAE t=10cm m2 123. 14 123. 14 123. 1
Al A Lo s U — R m2 2. 66 2. 66 2.7
A RC-40, t=200 m2 123. 14 123. 14 123. 1
H Hipt £=20mm m2 7.87 7.87 7.9
I £=10mm m2 3.73 3.73 3.7
2R FHR— b
SR T " £ <40kN/m2 ZEm3 10. 1 10. 1 10. 1
Jis THSATRIMAL, H=Z30m | fim2 255. 1 255. 1 255. 1
[RRT]
7 L& ¥ A KRR 4000 X 1000 X225 (1-6) e 22.0 22.0 22.0
av 7 Y—F o ck=24N/mm2 m3 6. 866 6. 866 6. 87
Tl — B m2 27. 66 27. 66 27.7
ERiT SD345 (D13) t 0. 104 0. 104 0.10
I SD345 (D16) t 0.276 0.276 0.28
n SD345 (D25) t 0. 704 0. 704 0. 70
RA THR— K
XET £ <40kN/m2 Z%m3 45.9 45.9 45.9




B T2
71y 7 No. 274 (R&5ARI)

—Et

X Sal
IS B EN S
a7 U—F
(EERR) V=1/2X (12. 748+13.917) X9. 050 X 0. 500 = 60. 330
o ck=24N/mm2
60.330 m3
a7 J—5h
(fEE) V1= 1.636m X 1/2X (12. 748-+12. 780) = 20. 882
V2=1.157m X 13. 312 =15. 402
o ck=24N/mm2 V3=1.636m X1/2X (13.838+13.917) =22.704
s VA= 7. 653 X 0. 400 =3.061
62.049 m3
I (EERR)
A= (12. 748+13.917) X 0. 500 =13.33
— iR P
13.33 m2
U (RIEE)
(AN
— A P Al= (12. 748+13.917) X 3. 025 = 80. 66
(PN
Em| A3= (1.90+0.424+0. 12+0. 50+0. 325) X 12. 780 = 41.78
izl Ad= (2.02-+0.255-+0.50) X 13. 312 X 21 =73.88
FHml A5= (1.9040.424+0. 12+0. 50+0. 325) X 13.838 = 45. 24
sl A6=0.52nd +0. 04nd +0. 52t =1.08
s A7=7.653m + (3. 20340. 325) X 2X0. 40 =10. 48
253.12 m2
EZN10]
P EELLY (A {K)
SD345 (D13) (D13) W= 2.755 2.755 t
SD345 (D16) (D16) W= 2. 097 2.097 t
SD345 (D19) (D19) W= 1. 887 1.887 t
SD345 (D25) (D25) W= 8.431 8.431 t




B B 2

ﬂﬂX n+ﬁ

7y 7 No. 274 (& 5D
X Ca
L D ST T N o =
BLarvszy—Fk
Al=1/2X (12. 7154 13.909) X 9. 250 =123. 136
o ck=18N/mm2 (V=123. 136X 0. 10=12. 314m3)
t=10cm
123.14 m2
Al B R
A= (12.715+13.909) X 0. 10 =2.66
BLar s ) — R
2.66 m2
FEAEA
A= BHLarv sz U—FLEET =123.136
RC-40, t=200
123.14 m2
H Hikt
A= ARILEA LD CGRERAAD =7.87
t=20mm
7.87 m2
H Hikt
A= FRHLE L0 (GRS =3.73
t=10mm
3.73 m2
KPR T
V1= 0. 88nt X (12. 78m—+ 13. 838m) =23.42
INA TR — B V2= 0. 38 X 13. 312m X 2f& Al =10. 12
40kN/m2 < £ = 80kN/m2
H=30m
10.1 Z%m3




i B BT 2
7a w7 : No. 27T
X Sal

AR

o

(e 54

F N

%

FR S &
pex
Al= (12.748m+13.917m) X 3. 525 {AIE£S\ =93.99
TR L, A2= (12.780m+13. 838m) X 3. 025 {RIEE N i =80.52
H=30m A3=13.312mX 3. 025 X 2/l [Ehs = 80. 54
255.1 Hfm2
TLX v A NRIR
(T-6) N= 11K+ 1148 =22.0
4000 X 1000 X 225
SEPNARCIZ I i (4000%1000%325, T-25)
22.0 #&
B NIR IR
ar7 J—Fh
V= (6.340m +8. 013m +3. 219m +3. 555m) X 0. 325
o ck=24N/mm2 = 6. 866
6.866 m3
R e
Al= (4. 00 X A4 7T +4. 428 +4. 14+4. 105X 2) X0.325 = 10. 65
— R A2=5.00m +6. 42nd +2. 6611 +2. 93t =17.01
27.66 m2
5]
BAREBER LY sppmm s-1 8K 48R 4-1 R 5
SD345 (D13) (D13)  W=0.033+0.04240.014-+0.015 = 0. 104 0.104 ¢t
SD345 (D16) (D16) W= 0.090+0.100+0. 042+0. 044 = 0.276 0.276 ¢t
SD345 (D25) (D25) W= 0.245+0.2414+0.111+0.107 = 0. 704 0.704 ¢t
PRI
V1= (5. 00 +6. 42m +2. 66m +2.93ni) X2.70 = 45.93
IR THIR— bk
40kN/m2 < £ =<80kN/m2
H=30m
45.9 Z%m3
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X 9
FmE
12748
S 2r
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g /8
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3 /2 o ) 3
N %. LS
N ERE (WA L=13.838" 7
= | —
i ' =
\ ~
13917 =~
IEE S=1:50
JLF ¥R MK 4000%1000%225 (T-6)
i
10 4000 10 4000 0
310 510 HBIE A=1.636m2
360 ERIEE A=1.636m2 710 e A=1.157m2 360
35 Y-k (0,=24N/mm’)
5 ‘ ‘ } ]
gl g° 080000000 ‘ 080000000
y BLaY5 Y — b (0ck=18N/mm)
J EBR T (RC-40)
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100 9050 100
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12715
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45 RRT
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g AEKRIRT
Javy:

X 4
TR ik = R =
JE 7K Sl AR
B
Mwil . 1=2. 00m 9. 60m—+0. 60m, K 16
mA! . 1.=10. 5m 0. 40m X 2--0. 40m,/ ¥ 2 ¥
v 3.24 t
I whld 2.0mX61. 8kg,mX 1641000 = 1.98
7 10. 5m X 60. Okg,/mX 2 +1000 = 1.26
ay))=h
18-8-40 1/2% (0. 5+1. 1) *0. 4%9. 6 3.1 m3
Al
— 1/2%(0. 5+1. 1) *0. 4%2 0.6 m2

&R IE. L=10.50m

/
00V

Qov

S&AR IME . L=10. 50m/




B OBLRET
208v7:
X &
TR ik = R =
Bt FRILX L 9 674.7 m2
s 395. 5+50. 3+180. 1+25.9+22.9 674.7
avs ) —hE HE
C2-B300 (BFA) 5. 9m—~0. 5m,/ #& 12 &
VBRI (BFA) 30. 8m+14. 2m 45 m
PCIRRR  fitZ: (BFA) 4 B
AsEfZEREEE L
t=40 R L 139, Ini+320. Ond 459.1 m2
AsEREERR  BIWT
t=40 ] 4, 8m+9. 4m+9. Im 23.3 m
ayvy ) — NEEEL
RS . B 433.7 m3
FerEs| V1= 0. 55m X (16. 4m—+31. 5m) 26.3
HerEal V2= 0.42m X 13. 4m 5.6
ERECol| V3= 0. 08mi X (10. 9m—+7. 5m) 1.5
LK1 V4= 0. 25nd X 13. 4m 3.4
L k2|l V5= 0. 09 X 8. 6m 0.8
FaECo2| V6= (13.2m+7.5nt) X0.07 1.4
Hkt] V7= 2.1X2.1X0.4—1.6X1.6X0.25 1.1
g V8= 6. 88m X 41. 5m 285.5
WEK L= V9= 2.57ni X41. 5m 106. 7
B BEHE T Lo | VI0=  FRESRERRE (B D) X isid 1.4
ayvy ) — NEEEL
Hih. Bk
BEREsei | V= 16. 1m (it T FEHE 55 5&) 16.1 m3




B OR:EET
Javy:
X &
TR ik = R =
a7 U—FEEEL HIIFLIEI & =0. 6m
MR, BRI e Fe & =2. 3kg/m (I ¥ v /'HE)
HIFLE = HE Lm0 90% ( I )
Fr AR R 2. 451t X 41. 5m 101.7 m3
HIlFL
¢ 42 X900 140 fL
g o (41. 5m—=0. 6m+1) X 28 P = 140
b 42X 450 70 L
Y| (41. 5m—=0. 6m+1) X 1{& 7T = 70
gl 362.3 kg
e 1. 00mX 90%X 140FL X 2. 3kg,/m = 289.8
fifgEE 0. 50m X 90% X 704L X 2. 3kg,/m = 72.5
M ERIE L A=6. 88m2
(e
(e
—
ﬁmwwm%t\\fé////
A=2. 45m2
CorRALER
RS B 433.7 m3
MR AR 101.7 m3
Hih. Btk 16.1 m3
AsTRALER 459. 1nd X 0. 04 18.4 m3
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ATZ
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X\ }2( AA
P P : FRCo2 A=13. 2m2
N (1:1.0)

‘ Ny
UZIA;E 2 L=30.8m
N EH:!:BHgC e -
$ 7.48 '/—//1 27 TRRA ERT
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Y2 aECOZ A=7.5m2
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UZfaliE2 £k# H=250 FECo2
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g A=0. 09m2 ° S S Zzzzzﬁt
A=0. 25m2 — ‘ |
= 1600
HEEE4 \ A=0. 20m2
A=0. 42m2
BEBECol BEEE3
159 400
|
o =, =+
2 s BE B ¥ & T (RRmfAD
o
A<0. 0812 i TH178HfE A AHE EIREMR T ER 1LY
A=0. 55m2 FLkv R FEM 40001000325 (T-25)
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=JL = =
REXT #ETEE
B OBRERT
JOvy:
X &
TR ik = R =
[
Ft+ WE 841.27 m2
ST[a 3 500. 351 +84. 47mi = 584.82
(a4 106. 033 +150. 42 = 256.45
%%+
4. 0m=B 674.5 m3
sEEEs| @ 8. 27nt X 56. 21m = 464.9
Il ® 5.28n1 X 8. 25m = 43.6
a4l © 5.20m X 31.93m = 166.0
T AT 7 v
FE
PRI FEAs, =50 511.17 m2
ST[a 3 5. 00m X 64. 46m = 322.30
(a4 5.00m X< 31. 93m = 159.65
INFER 14. 57 +14. 65m = 29.22
e
RC-40, t=100 FELFET 511.17 m2
+AKRK— b £ HHEER 841.3 m2
ERR B Il L
¢ 200 MEEOFmEX] L0 89.3 m
BERR B ] L
$ 100 I 91.0 m




T EE% AR 2E b X

L #B=6000 (3000)

500 5000 (2000) 500
miE A T A7 7))L L% (t=5cm+10cm
m =
{
s
£t B RESE .
(FHED &) TR—F
TmE W

\UNF4 A=14.57

BT THIFH GH =t H +mEB TEW miE
@D-D 7.54 6.66 0.30 1.18 6.00 9.54 8.27
®-® 7.39 6.84 0.30 0.85 6.00 8.55 5.28
9©-© 7.36 6.82 0.30 0.84 6.00 8.52 5.20




REERERER [(SFUE]

I B #w g oAl B | B B = b
[ ¢200]
fxmEL
VU-5m VU (RR) 200 m 89.3
HE $200x 454 {& T BERSBHLEfHE
" $200x22"% & 2 BEBRFALLATE
" $200x 114 @& 2 BERRRALLfTE
VST aq vk 200 " 2 BERRRALLfHE
[ ¢ 100]
fxmEL
DCIP-4m DK & ¢ 100 m 91.0
DKEH®E  ¢100x45"*  {& 7
" $100x 22" {@& 2
" $100x11"%* & 2
H XeR @100 " 2




B OBRERT
JOwvy:
X &
TR ik = R =
RS B R AR
VAL 1=10. 50m
R 98.4 m
2.0m+12. 8m+33. 2m+1. 6m
+30. 8m—+16. 4m+1. 6m = 08.4
B 246
5+32+83+4+77+41+4 = 246
E% 10. 5m X 76. 1kg,/mX 2464+ 1000 196. 57 t
KAE+D 9 15.0 4&
P &© = 15.0
FERIR
22%1524%6096 389 m2
(1, 604kg/#0) DRI ] LD = 389

5. 05m 5. 10m

3. 69m

RE+DS5HE - #BE

A=14.7m’

1.00m
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